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Example candidate response – grade A continued

Examiner comment – grade A

(a) The candidate immediately demonstrates an understanding of the purpose of the passage and highlights 
the repetitive use of the phrase ‘In the rainy season’. They also understand the effect of the writer’s 
language choices in creating the sense of a necessary routine in the struggle against the encroaching 
water. This might also have been a good point to consider the writer’s almost fatalistic tone when 
discussing these counter measures, who is plainly not convinced that they’ll make much difference. 
The response then moves to a more detailed focus upon the various personifi cations of the surrounding 
waters; the effectiveness of the word ‘invades’ in giving a malign and determined character to the river 
is well understood. The candidate’s informed grasp of the structure of the passage is also shown by 
their recognition of the change of tone signalled by the arrival of the ‘radiant’ nephew, who ushers in an 
acceptance, even an enjoyment, of the conditions. The writer’s use of onomatopoeic language might 
have been more fully examined but its general effect is well noted. The change in the writer’s status 
from fl ood victim to an observer of others is a very good point and is well developed in the observation 
of the children, who actually enjoy the fl ood. A strong understanding of tonal changes is a feature of 
the answer and this is maintained in the fi nal paragraph, which has a clear recognition of the writer’s 
returning anxiety about what next year’s rainy season will bring.

 Mark awarded = 13 out of 15

(b) The candidate clearly understands the usefulness of a repetitive phrase to defi ne both the setting and 
the season for the reader. This is quite neatly done with the opening ‘Mornings in Romania during the 
winter’. The need to devise a routine to combat the weather is understood and the original’s yearning 
for comfort in the face of the elements is replicated; the ‘snow’s ice claws’ is a clever echo of the 
personifi ed fl ood. There is some rather awkward phrasing in places; nevertheless, this response has 
caught the tone and style of the original and transposed it effectively to a fresh setting.

 Mark awarded = 9 out of 10

 Total mark awarded = 22 out of 25
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Examiner comment – grade C

(a) This response has a weak opening paragraph which simply states what is obvious to the reader 
and adds no extra insight concerning language or content. However, the second paragraph quickly 
establishes a consistent focus upon the structure of the passage and the language features employed. 
The reference to the use of short sentences might have been clearer but the choice of the word 
‘manifesto’ gives perfect defi nition to the author’s catalogue of preparation. The candidate recognises 
the use of punctuation to create a sense of ‘stop-start’ motion and the writer’s inability to ever feel at 
ease in his surroundings. The response would have gained from attention to the repetitive phrase ‘In the 
rainy season’, which acts as a mournful chorus in the opening paragraphs. There is some confusion over 
nouns and adjectives but there are also effective word lists to demonstrate the insistently water related 
language. The use of onomatopoeic language is understood and the choice of the word ‘immersion’ 
to describe the effect on the reader is exactly right. More might have been made of the arrival of the 
‘radiant’ nephew, but the transforming effect of the colour references is well conveyed. There is good 
understanding too, of the aspects of contrast employed by the writer and of his ambivalent attitude 
towards his surroundings. The concluding paragraph of the response has some of the weaknesses of 
the opening: identifying the target audience as ‘well educated’ and ‘interested in travel’ does not usefully 
examine the style and tone of the passage. Although there are some omissions from this response, 
there is also a secure understanding of the purpose and key features of the passage.

 Mark awarded = 9 out of 15

(b) This response takes the question at its word and writes about genuinely extreme weather conditions. 
The opening words set the scene immediately and make a decisive reference to the original. There is 
also evidence of precise and effective word selection in the opening paragraph: the sun ‘spotlights’ 
down and the candidate ‘bastes’ himself in sunblock. There are also clever echoes of the original’s tone 
in the second paragraph, particularly in the weather’s active hostility to the writer. The candidate also 
picks up on the colour imagery in the original : ‘the black sky’ which fails to produce the longed for rain, 
is particularly effective. There are mistakes, but this a purposeful response with some well-chosen 
vocabulary.

 Mark awarded = 6 out of 10

 Total mark awarded = 15 out of 25
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Examiner comment – grade E

(a) The opening paragraph of this response attempts to give some defi nition to the passage but needed to 
be far more specifi c in its reference. To say that a text is written ‘in a general way’ isn’t very helpful and 
a ‘personal’ style isn’t necessarily more appealing to the reader. The candidate does comment on the 
repetitive use of ‘In the rainy season’ but might have said more about its effect. There is also attention 
to the word ‘infi ltrates’ but without specifying the precise effects of language choice. The repetitive use 
of the injunctions ‘I must’ and ‘I mustn’t’ is recognised as a linguistic device but again, might have been 
more fully developed. This is also the case with the use of onomatopoeic language which needed a 
more developed explanation. The candidate recognises the change of tone created by the arrival of the 
writer’s nephew and also comments on the implication of the river ‘invading’ the roads. There is some 
broad understanding of the passage but only a relatively limited range of examples that are related to 
specifi c effects. Style and tone are also quite generally discussed but would have benefi ted from more 
precisely chosen language.

 Mark awarded = 8 out of 15

(b) The candidate is quite successful in building up the sense of accumulated misery that the weather 
creates:’chilling my spine and crushing my bones’. There is also an effective use of the repeated phrase 
‘In winter nights’ to establish setting and season. However, the response is weakened by a series of 
mistakes and omissions which prevent it from being fully effective. There is a tendency to omit both the 
defi nite and indefi nite article and there are mistakes with word endings. There is also a change of tense 
in the fi nal paragraph which spoils what might have been an effective conclusion. The emphatic fi nal 
sentence ‘I hate winter’ shows some purpose in the response but this needed to be assisted by more 
accurate expression.

 Mark awarded = 4 out of 10

 Total mark awarded = 12 out of 25


